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1. Introduction

Recall the Cameron-Martin Formula: Given a centered Gaussian
process G = (Gt)cT over an arbitrary set T and a random
variable £ in L2G, the L%-closure of the subspace spanned by G, we
have for any measurable functional F : RT — R

E[F ((Ge + 6(t)eer)] = E [F (Ge)eer) 25| (1)
where ¢(t) = E(£{Gy).

This formula has many applications, including SDEs and SPDEs
driven by Gaussian random fields.



The C-M formula can also be viewed an isomorphism identity
expressing a translated Gaussian process in terms of the
untranslated process, but the latter is under the changed
probability measure.

The set of all translation functions
He={¢: T = R:p(t) =E(EG) for some € € L2}

forms a Hilbert space, called the Cameron-Martin space (or the
reproducing kernel Hilbert space).



It is well-known that (1) does not extend to the Poissonian case.

Indeed, it is easy to see that if Y = (Y}).[o,1] is a Poisson process,
then there is no function ¢ : [0,1] — R, ¥ # 0 such that

E [F ((Yt + w(t))te[o,l])} =E {F ((Yt)te[o,l]) 77}
for all functionals F and some random variable n > 0 with En = 1.

We propose isomorphism identities based on random translations
instead.



Namely, let Y = (Y:)teT be a Poissonian infinitely divisible
process over a general index set T. Let v be the Lévy measure of
Y on the path space R” and assume that v is o-finite.

Let Z = (Z;)teT be an arbitrary process, which is independent of
the process Y, and whose distribution £(Z) on R is absolutely
continuous with respect to v, i.e., E(Z) <L V.

We will show that there exists a measurable functional

g:RT — R, with Eg(Y) = 1 such that for any measurable
functional F: RT — R,

E[F((Ye+ Ze)te)] = E[F ((Ye)ieT) 8(Y)]- (2)



What kind of functionals F can be of interest? A few examples:

o F((Ye)ter)=1f(Yy,--.,Ys,) cylindrical functional;

o F((Ye)teT) =supscT Yr extremum;

o F((Ye)teT) = J+1YelP u(dt) path integral;

o F ((Yt)te[o,u]) = o 0,(Y:) dt local time;

o F((Ye)ter) = Jo~ e " d& exponential functional, where

(¢, &), t > 0is a Lévy process, T = Ry U R, the union of two
disjoint copiesof R and Yy =n;ift € Ry, Yi =& if t € Ry.



Returning to our example of Poisson process Y = (Y;):ejo,q), if we
take
Zy = 1[0,t](77)

where 1 € [0,1] is a random variable with absolutely continuous
density f, and independent of Y then (2) holds:

E [F (( Ye+ 1o, (ﬁ))te[o,l])} =E [F ((Yt)te[o,l]) g(Y)}

with g(Y) = A~1 [1 £,(t) dY; and X being the rate of Y.



Any infinitely divisible process X = (X;)te7 can be written as
X2G6+Y

where G = (G;)teT and Y = (Y:)teT are independent processes,
G is centered Gaussian and Y is Poissonian infinitely divisible.

Combining isomorphis identities for Gaussian and Poissonian
processes we get the identities for all infinitely divisible processes.

Isomorphism identities for Poissonian processes use Lévy measures.

What is the Lévy measure of a general infinitely divisible process?



2. Lévy measures on path spaces

Notation: Path space R” = {x: T — R}; BT the cylindrical
(product) o-algebra of RT; 01 the origin of R

Definition

A measure v on (R7,B7) is said to be a Lévy measure if

(L1) foreacht e T
/ IX(£)2 A 1u(dx) < oo,
RT

(L2) for every Ac BT
v(A) = v(A\ 07),

where v, denotes the inner measure.

V.




Theorem (Lévy-Khintchine representation)

Let X = (Xt)teT be an infinitely divisible process. Then there exist
a unique triplet (X, v, b) consisting of a non-negative definite
function ¥ on T x T, a Lévy measure v on (RT,B7) and a
function b € RT such that for every finite set | C T and a € R/

Lo 55 A e ) (3)

]EexpiZatXt:exp{ —5

tel

+ [ (o —1— ifa, L)) v(e)]}

where (-,-) is the Euclidean inner product in R! and [[-] denotes a
truncation function.

Conversely, given ¥, a Lévy measure v on (R™ BT) and b € RT
there exists a unique in distribution infinitely divisible process
X = (Xt)teT satisfying (3).

T s o, =



The following is possible but very rare ...

Theorem (Processes with not-o-finite Lévy measures)

Let Y = (Y;:)teT be a Poissonian infinitely divisible process with
Lévy measure v. Then v is not o-finite if and only if T is
uncountable and there is a version Y = (\N’t)ter of the process Y
such that for every countable To C T there exist t1 ¢ To and
independent random variables £ and 7 such that

(a) SV/h =&+,
(b) (\7,_»,5, n:t € To) are jointly Poissonian infinitely divisible;

(c) n is non-degenerate and independent of(?t,g cte To) .

Remark

Intuitively, a Poissonian infinitely divisible process has a o-finite
Lévy measure if and only if outside some of countable Ty C T the
process has no independent components to Xt,.

v
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Definition (separability in probability)

A stochastic process Y = (Y})teT is separable in probability if
there exists a countable To C T such that for any t € T there is a

sequence {s,} C T such that Y, L

| \

Corollary

A separable in probability Poissonian infinitely divisible process Y
has a o-finite Lévy measure.

N,

Proof. Let Ty be a separant for Y. Suppose to the contrary that
v is not o-finite, so by above Theorem there is t; ¢ Ty such that

(a)-(c) hold. By the separability, Y., A Y;, = € + 1) for some
sn € To. Therefore, & + 7 is o(Y1,)-measurable and still 7 is
independent of (Y;, £ : t € Tp). Hence, for any u € R

eH(EH) — E[eMEN) | Yy, ] = B[] Vi, €] = eE[e],

|[E[e™M]| = 1, so that 7 is deterministic. A contradiction. O



3. Representations and examples of Lévy measures of

processes

A natural way to describe Lévy measures on path spaces is to view
them as “laws of processes” defined on infinite measure spaces.

Definition

A collection of measurable functions V' = (V;),c 1 defined on a
measure space (S,S, n) is said to be a representation of v if all its
finite dimensional “distributions” coincide with the corresponding
projections of v for all Borel sets that do not contain the origin.

A representation V is called exact if no V™! = v. Here V is
viewed as a function from S into R7 given by V/(s)(-) = Viy(s).

. T



Example (Lévy processes)

Let Y = (Y¢)t>0 be a Poissonian Lévy process determined by
Ee™Yt = etK(t) where K is the cumulant function given by

K(u) = /}R (e — 1 — iu[x]) p(dx) + iuc.

Then V = (V;)>0 defined on (R4 x R, A ® p) by

Vi(r,v) =14snv, (r,v) €Ry xR

is an exact representation of v.




Example (Squared Bessel processes)

Let Y = (Y%),~o be a squared Bessel process of dimension 5 > 0
starting from 0. If 3 € N, then Y; := ||B¢||2, where B is a
[-dimensional standard Brownian motion. In general, Y is
defined as the unique solution of the stochastic differential
equation

dYy =2V/YedW, + Bdt, Yy =0,

where W is a one dimensional standard Brownian motion. Shiga
& Watanabe showed that squared Bessel processes are infinitely
divisible and Pitman & Yor described the Lévy measures on
C(R4). We will adapt that characterization to our setting.

Let Uy C C(R4) be defined by

Ut :={u:u(0) =0, ujo,5) >0, u[y,00) = 0 for some to > 0}.

U is a Borel subset of C(R), on which we consider the It6
measure n; of the Brownian positive excursions.

<




Example (Squared Bessel processes, cont.)

Let L2 (u) denote the total accumulated local time of an
excursion u € Uy at a > 0. Symbolically,

12 (u) = /OOO 5.(u(t)) dt.

Set L3 (u) = 0 when a < 0.
Then V = (Vt),> defined on (R4 x Uy, BA® ny) by

Ve(ryu) =L "(u), r>0, ue Uy.

is an exact representation of the Lévy measure v of Y, the
squared Bessel process of dimension § starting from zero.




Example (Feller diffusion)

We consider a Feller diffusion Z = (Z;),, without the drift
term, which satisfies the stochastic differential equation

dZt:O'\/thWt, Z():a>0,

where W is a one dimensional standard Brownian motion. Z is
a time-scaled O-dimensional squared Bessel process whose Lévy
measure vg was given by Pitman & Yor. We get that

V = (V;),>( defined on (U, any) by

Vi(u) = Lglazt(u)’ ue Uy

is an exact representation of the Lévy measure of Z.




4. Lévy-It6 representations and transfer of regularity for
Lévy measures

Theorem (Generalized Lévy-It6 representation)

Let X = (Xt),c1 be a separable in probability infinitely divisible
process with the generating triplet (¥, v, b). Assume that the
probability space is rich enough to support independent of X
standard uniform random variable. Then, given a representation

V = (Vi),c7 of v defined on a o-finite measure space (S, S, n),
where S is (modulo n) countably generated, there exist a centered
Gaussian process G = (G;),. with covariance ¥, an independent
of G Poisson random measure N on (S, S) with intensity n, such
that for every t € T

X = Ge+ /5 Vi(s) (N(ds) — x(Vi(s)) n(ds)) + b(t) a.s.

where x is a fixed cut-off function.




Examples (integral representations)

(a) Lévy processes. Let Y = (Y};)¢>0 be a Poissonian Lévy
process. Since Vi(r,v) = 1{;>,3v, we get for every t > 0 a.s.

Y: = / / 1ie>nv (N(dr, dv) = x(1{e=nv) drp(dv)) + ct

/ / N(dr,dv) — x(v) drp(dv)) + ct,

where N is a Poisson random measure on R, x R with rate A ® p.

(b) Squared Bessel processes. Let Y = (Y}),5( be a squared
Bessel process of dimension 8 > 0 starting from 0. Then

Y, — / / LE="(u) N(dr, du).
Uy

where N is s Poisson random measure on R, x U; with intensity
BA ® ny. Therefore, a squared Bessel process Y is a mixed
stochastic convolution.




Examples (integral representations, continue)

(c) Feller diffusion. Let Z = (Z¢),>, be a Feller diffusion starting
from a > 0, as in a previous example. We have for every t > 0 a.s.

Z, = /U+ L7 (u) N(du)

where k = 02 /4 and N is s Poisson random measure on Uy with
intensity an.




The transfer of regularity property for Lévy measures says that
regularities of sample paths of Poissonian infinitely divisible
processes are inherited by representations of their Lévy measures.

Theorem (Transfer of regularity)

Let Y = (Yt),c7 be a Poissonian infinitely divisible process with a
o-finite Lévy measure v. Assume that paths of Y lie in a set U
that is a subgroup of RT under addition. Then v has an exact
representation with all paths in U. Therefore, both the distribution
of Y and its Lévy measure are carried by the path space (U,U),
whereU = BT N U.




5. Isomorphism identities for Poissonian processes

We continue isomorphic identities from the Introduction.

Theorem

Let Y = (Yt),c7 be a Poissonian infinitely divisible process with a
o-finite Lévy measure v and given by its canonical spectral
representation

Y = /RTx(t)[N(dx) — X((O)(d)] + b(t), teT,

where N is a Poisson random measure with intensity v. Let
Z = (Zt),c1 be an arbitrary process independent of N such that

L(Z) < v. Put q = dfj(yz). Then for any measurable functional
F:RT—R

EF ((Y: + Zf)teT) =E[F ((Yt)teT) ; N(q)] (4)




Theorem (continue)

where

N(a) = | a(x) V(o).
RT
Conversely, for any F as above,

E [F (Ye)eer) : N(q) > O e
—E [F (Y + Zo)yer) (V@) + a(2)) ]

where q(Z) = q ((Zt)teT). Therefore, L(Y + Z) and L(Y) are
equivalent provided v{x : q(x) > 0} = co.

The next identity is in terms of representations of Lévy measures.



Theorem

Let Y = (Yi),c7 be a Poissonian infinitely divisible process given
by
Ve = [ V(s)[N(ds) = x(Va(s))n(s)] + (o).

where V' = (Vi),c1 is a representation of the Lévy measure of Y
defined on a o-finite measure space (S,S,n), N is a Poisson
random measure on (S,S) with intensity n, and b is a shift
function. Choose an arbitrary measurable function q : S — R
such that [s q(s) n(ds) = 1. Then for any measurable functional
F:RT —»R

JLEF ((Ye+ Ve($))eer) a(s) n(ds) = EIF ((Ye)er) s N(a).

where

N(@) = [ a(s) N(ds) .




Theorem (Continue)

Conversely, for any F as above,

E[F((Ye)ser): N(q) > 0]
= [BIF (Y + Ve(s))eer) i (V@ + a(s) ] a(s) n(s).

Ifn{s € S:q(s) >0} = oo then

IE[F (( )tET)]
= [E[F((Ye+ Ve(s)) )i (N(a) + q())] a(s) ().




Trying to understand the following isomorphism theorem inspired
the present study:

Example (Dynkin isomorphism for permanental processes)

First we will recall some definition and facts about permanental
processes that will be needed in the sequel. A positive
real-valued stochastic process Y = (Yy)xcg over a set E is
called a a-permanental process with kernel (u(x,y) : x,y € E) if

for every x1,...,x, € E and s1,...,5, >0
Eexp{—ZsjYXj}:H—l- us|—« (6)
j=1

where U and S are n x n-matrices, U = (u(x;,x;) : 1 < i,j < n),
S = diag(s1,...,8n), and a > 0. The one dimensional marginal
of Yy is a gamma distribution with shape parameter v and
mean au(x,x) (in particular, it is exponential when o =1, or a
x2-distribution when a € N/2). Therefore, (6) can be viewed as
a generalization of such distributions to the multivariate case.
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Example (continue)

The importance of permanental processes comes from their
connection to Markov processes. Eisenbaum & Kaspi proved that
if X = (Xt)t>0 is a transient Markov process with a state space E
and potential density (u(x,y) : x,y € E), then for every a > 0
there exists a a-permanental process Y(®) = (Yx)xce whose kernel
is (u(x,y) : x,y € E) and Y(®) is Poissonian infinitely divisible.
Therefore

n n
Eexp { — ZsjYXj} = exp l/ (e 2 5iBlg) _ 1) au(dﬁ)] ,
j=1 RE
where x1,...,x, € E, s1,...,5, >0, and n > 1. v is the Lévy
measure of the 1-permanental process. v is o-finite under a weak

assumption that Y(® is separable in probability.




Example (continue)

The Dynkin Isomorphism Theorem says that for any measurable
functional F : RE — R

EE, [F ((Yx + Li)xee)] = a tu(a, a) T E[F ((Yidxer): Yal |
(7)
where (L% )xcEe is the process of the total accumulated local time
at x of the associated Markov process X considered under
probability measure P,. Under P, the process X starts at a and is
killed at its last visit to a.

One can show that L((L%,)xee) < v. Thus (7) is a special case of
(4) above. Using (5) we also get

E[F ((Ya)xer)] = au(a, a) BB [F (Y + LE)wer) (Yo + L2) ™ -

.




Example (Lévy processes)

Let X = (X¢)t>0 be a Lévy process such that Ee®X: = etK(v),
where

K(u) = —%0‘2U2 + /IR(ei“X — 1 — iu[[x]) p(dx) + icu .

Let g : Ry x R+— R, be a measurable function such that
Jr.xr q(r,v)drp(dv) = 1. Then for any measurable functional

F:RT—R
E R+XRF ((Xt + 1< v) t>0> q(r,v) drp(dv)
= B[F ((X)ezo) : 8(X)].

where g(X) = 31,50 ax,20} 9(r, AX;) and AX, = X, — X,




Example (Lévy processes, continue)

Conversely,

E[F( (Xt)tzo) ;g(X) > 0]
= R+XRE[F ((Xt + l{rgt}v) tZO) : (g(X) + q(r7 V))_l] q(r, V)

drp(dv).

Moreover, g(X) >0 as. if [, g 1{q(r,v) > 0} drp(dv) = <.

v




6. Series representations

We will only show an example how a representation of Lévy
measure leads to series representation of the processes.

Example (Feller diffusions)

Let Z = (Zt)teT be a Feller diffusion starting from a > 0 and
without a drift term. Recall that V; = L5 t > 0is a
representation of the Lévy measure of Z on (S, n) = (U4, any).
Let R(u) denote the length of an excursion v € U;. It is
well-known that

ny{u: R(u) > x} = Lx_l/?

V2r

Let f : Ry — Ry be such that f(x) = 0 only for x = 0 and

1/00 Fl(x)x Y2 dx =1
V2m Jo '




Example (continue)
Since
A () — / om0 2 ) = s6) b — 1L
Uy 0
n(du) := f(R(u)) ny(du) is a probability measure on Uy. Let
(&)jen Pe an ii.d. sequence of random elements in U, with the

common distribution n(!) and let (ry) ieN be a sequence of
partial sums of i.i.d. mean-one exponential random variables
independent of the sequence (¢j); . Then

2Ly IHEMIARE) < oY), 20

and the convergence holds also a.s. uniformly in t on finite
intervals.

v




Example (continue)

Let us take f(x) = \/g (x A1) for concreteness. Then the above
formula becomes

Zt < i LES(EN{R(E) N1 < (2/7r)1/2arjfl}, t>0.
j=1

This formula says that a Feller diffusion is the series of
randomly trimmed total accumulated local times taken at the
level kt, t > 0 from an infinite sample of Brownian excursions.
This sample is taken according to the density (m/2)Y?(R A1)
with respect to ng.




Thank you!



